
Pac.rer npeAeJrbHo AorrycrrrMbrx Harpy3oK
AO 'iTAT3K" na Mapr 2021rca

I. IlponycKHafl MorrlHocrb y3JroBbrx nolcranqufi

IIC-I26 "Capuo3er" AT-I,2 (AM3C) P:30/32 MBa x 2 :62uBa
IIC-152 "Tar4uropran" AT-1,2 (AMOC) P: I25/l25ltrBax2 :250 nrBa
nC-I49 "3IIIA" T-1,2 (AMOC) P :32132 MBa x 2 - 64 nrBa

I Pnorra :376 uBa

P opt :ff, X 2P no* : 0r7 x376:263 MBr,
r4e ff, - HoMt4HurJrbuufi roe(pQlrrlkreHr 3arpy3Kr4 rpancQopnraropoB

B OnTLrMiurbHoM pexQrMe

II. Pa6ora MorrlHocrefi renepnpyrcqnx rrcrorrHrrKoB perr.roHa

1. f3C - 1,2,3, 4 - P r : 3 MBr
2.KaparatscKaq fOC - P z : 4 MBr
3. Kaparanrcxas fOC -2,3,4 - P t :3 MBr
4.T3II-2-Pt:20MBr
5. Bepxne-BacKaHcKr4 fOC-1 - P5 :2 MBr
6. fOC Jlencu-2 - P e 

:3 MBt
T.fOCKopa- P7:2MBr

Prp2 =Pt *P2 +P3 +P4+Ps *po *pz= 3+4+3+20+2+3+2=37MBr

III. CyuuapHafl nporycKHafl MorqHocrr cereft Ta;rgsrropraHcKoro perlroHa

lP np -- P opt * P opz :263 +37 :300 MBr

IV. IlpouycKHafl cnoco6nocrb 3JreKTpooHeprr.ru cereft AO " TAT3K "
3a MapT Mecffrl cocTaBrrT:

1)l/ np = P op x T roa xK 
^ = 300 x 744x0,65:145080 rsrc.nBr uac,

rAe P np [ponycKHar MorrlHocrb cerefi Tal4uropraHcKoro perr4oHa

T rod TILICJIO qaCOB M MeOtq

K 
^ 

roetptpuqueHT rII,Icra qacoB npl4coeAvHenufi nraxcuualrnofi Hafpy3Klr,

npvHvMaercr 0,65

X.H. KabuJDr(aHoB

4u Tar4uropraHc

Haqa;rrnnrc OKB9
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